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B AC-1 s+ RSLYJ560K 1 56.0 20 [ AC-1 g+ VRV Q 1 56.0 | 20.0
1F AC-1-1 A FXYCJ112K 570~ 1 11.2 AC-1-1 A 057 1 11.2
AC-1-2 A FXYCI56K 5770~ 3 5.6 AC-1-2 A 057 3 5.6
AC-1-3 A FXYCI36K 5770 1 3.6 AC-1-3 A 057 1 3.6
AC-1-4 A FXYS]56K ES MY 2 5.6 AC-1-4 A PSEDAYL 2 5.6
AC-1-5 A FXYCI36K 5770 1 3.6 AC-1-5 A 057 1 3.6
AC-1-6 A FXYSJ36K ES MY 1 3.6 AC-1-6 A KA WM 1 3.6
AC-1-7 A FXYKI36K Y9 WI0- 1 3.6 AC-1-7 A Y7 0~ 1 3.6
B AC-2 s+ RSLYJ560K 1 56.0 20 | AC-2 g+ VRV Q 1 56.0 | 20.0
AC-2-1 A FXYFJ71K 39870 1 7.1 AC-2-1 A 398 J0- 1 7.1
2F 77 4l-h AC-2-2 A FXYSJ90K ES MY 2 9.0 AC-2-2 A PSLEDAYL 2 9.0
" AC-2-3 A FXYSJ112K ES MY 1 11.2 AC-2-3 A PSLELAYL 1 11.2
AC-2-4 A FXYSJ90K ES MY 1 9.0 AC-2-4 A PSLEDAYL 1 9.0
AC-2-5 A FXYSJ45K ES MY 2 4.5 AC-2-5 A PSLELAYL 2 4.5
AC-2-6 A FXYCI36K 5770 1 3.6 AC-2-6 A 057 1 3.6
2F A=E AC-2-7 A FXYMJI56K 5 9p 1 5.6 AC-2-7 A PSLEDAYL 1 5.6
B AC-3 s+ RSLYJ450K 1 45.0 16 | AC-3 g+ VRV Q 1 45.0 | 16.0
2F SH=E AC-3-1 A FXYFI80K 39870 2 8.0 AC-3-1 A 39870~ 2 8.0
2F SFB=E AC-3-2 A FXYKJ71K Y9 WI0- 2 7.1 AC-3-2 A Y7 hI0- 2 7.1
3F EB=E AC-3-3 A FXYLJ45K 0-i" -1 4 4.5 AC-3-3 A PREED-1" -1 4 4.5
B AC-4 s+ RSLYJ560K 1 56.0 20 [ AC-4 g+ VRV Q 1 56.0 | 20.0
3F AC-4-1 A FXYFI56K 39870 2 5.6 AC-4-1 A 398 J0- 2 5.6
AC-4-2 A FXYFI36K 39870 1 3.6 AC-4-2 A 39870~ 1 3.6
AC-4-3 A FXYLMJ45K IBIAD-#" -4 2 4.5 AC-4-3 A PRED-" 1A 2 4.5
AC-4-4 A FXYLMJ56K IBIAD-#" -4 1 5.6 AC-4-4 A PRED-" -{1HA 1 5.6
AC-4-5 A FXYLMJ71K IBIAD-#" -4 1 7.1 AC-4-5 A PRED-" 1A 1 7.1
AC-4-6 A FXYLJ45K 0-#" -1 2 4.5 AC-4-6 A PREED-H" -1 2 4.5
AC-4-7 A FXYLMJ45K IBIAD-#" -4 2 4.5 AC-4-7 A PRED-" 1A 2 4.5
PAC-1 SA SHYBJ112F ES MY 1 4| PAC-1 SA KA WM 1 10.0 | 4.0
RA-1 RA S285CXV 1 2.8 1 RA-1 RA Y9 0~ 1 28| 1.0
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